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P IE. . /EAO=/FCO.

~.GF —CF. " JAOE— /COF.

S BM+CF=GM+GF=MF. | SAAOEZACOF (ASA).

@ D {e2k B BA WK i, | LOE=OF, AE=CF.

e 41 Sooooo
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W AAEO B 10,

" OA+AE +OE =10.

W AE+OE=10—3=T7.
~.CF+OF =AE+OE=T.
(2) 12
ADOF gy BN 1,
3Samor =3.

(#4717 AD = 2DF.
SAA()F -

I PUIE ABCD 2

fimhE,. ~OA=0C. [ (D,

% ACOE 2 ANAOF ( ASA).
S OE=OF. '"OA=0C,
¥ AECE J& ¥ 17 M #& i®.
e Soarer =4S paor =4 X3 =12.

3 7 URFMEE 3 Tt E O
f£OM |DC F4iM. ON LAD T

4'-1_:_"\ N? ﬁn—Flg.
n FM

B

A E B

U ABCD AT Mg,

S CD = AB = 5, OA = OC.

oo 1 .
. SA(I)D = SA/\()D = Z Sroapcn s X |

1

Swwigwnor = n Sciapcp s <« Spaop =

= Sapor.

1

Swnmrcor. s Saac

2 2

.-.SAA(X;:lAG « ON = X1X

1
2

ON:%ON, Simor =5 DF « OM,

" ON=DF - _ON
S .ON=DF « OM, H} DF OM"

e S JABCD :AD ° ZON =CD -

20M, .3 X 20N =5 X 20M.
.ON_5 . 0
..OM 3. OODF 3.

(€579 By N e S Ut A
HARFHER, 2F = ABNHE
5HR. ZBEEEF LN ERF
iR, RAEFEFATEALNHA T
59 . i AAOE 2 ACOF #n
ACOE2NAOF JZ 7 < #E.

sy | ERIE

(1) iEBA: 7 PUilE ABCD &%
i,
~.OB=0D, AD //BC.
~. /EDO= /FBO.
£ /AEDO F1IAFBO w1,
J ~/EDO= /FBO,
<OD=0B,
1 /DOE = /BOF,
. AEDO2AFBO (ASA).
" OE=0F.
(2) iERA: B (1, WAEDO2
/A\FBO.
~.DE=BF.
Ui ABCD J& AT A .
S.OA=0C, AD //BC.
" /EAO= /FCO.
1 AAOE FI/ACOF 1,
J /EAO= /FCO,
OA=0C,
1 ~/EOA= /FOC,
S AAOE2/ACOF (ASA).



SAE=CF. DE C
.AE+BF=CF +DE.
U ABCD VAT hIE,

% A B
S.AB=CD. ‘

| B (2)(3) "5, PMihi¥ AFED
S AE + BF + AB + EF = CF + |

FIPUILIE: BFEC 04 KA 18
DE+CD +EF. | .
LD ABFD S DERC
| N AGE GRS
0 IS, .

JSGH B 3 ) Aol AR 3 i A0 G T, HL
i PR i L FH X KO T R .
RS

(3) . HZ EF B 1Tl
ABCD Wy i T — 40y, #1

M :
UK ABCD 25E47 00, ##. (1) PD+PE+PF=AB. #

~.OD=0B, OC=0A. RN
£ ADOC F1/ABOA "* 5 P AEL BC I,

OD=O0B., ~ ~rp-.

£DOC= ~BOA, ~ VPEJAC, PF//AB,
OC=0A., Y PEAF VAT
S ADOC2ABOA (SAS). ~ PFEAL
CeSppoc =Samn. ~ VPE/AC
(1) (2). MIAEDO2AFBO, = ZBPE=ZC.
AAOE2/\COF.  SAB=AC
CoSkmo =Samos Sewe =Sear. -+ ZB=7C=ZBPE,

“ Sapoc T Samo T Sacwr = ~.PE=BE.
Simn +Snmo +Snak. L PE+PF-BE+AE-AB.
BIpUSHIE AEFB 503K DEFC " PD=0,
F T LR 25  LPD+PE+PF—AB,
W E L EF 4747006 ABCD ~ (2) PD+PE+PF=AB. i
TS — 505, W
Rif: # 4 AC. BD ZF 4 0. “PE/JAC, PF//AB,
VP OP Y% CD L AB TR E, i AEPF RFPAF NI,
F, M ps. . NAE=PF.
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“"MN //BC, PE //AC,

S /EPM=_/ANM= /C,
~/EMP = /B.

SAB=AC,

S ZB=/C.

s« /EMP = /EPM.

S PE=EM.

S PE+PF=FEM+AE=AM.

5 %1 1% BDPM & - 43 1

SUN
~.MB—=PD. |
S PD + PE + PF =MB +AM = |
AB.
Hl PD+ PE +PF=AB. 3
(3) E[ 3P, i PAEMN /-

BC 4y %1% AB. AC E’JLJ&%*ZT @J_ 72,

M. NW&S, inrE.

‘" PE //AC, PF //AB,

S UIE PEAF 2 VAT MiLE.
~.PF=AE.

‘CAB=AC,

s/ B=_C.

*"MN //BC,

S /ANM= C= /B= _AMN.
‘" PE //AC,

s /EPM= _~ANM.

BHhE B BERSER

S /AMN = /FPM
B ~EPM= /EMP.
~.PE=ME.
“* AE +ME =AM,
~.PF+PE=AM.
**MN //CB, DF //AB,

i1 BDPM & VA7 IE.
~.MB=PD.
. PF+PE—PD=AM—MB=AB.
. PF+PE=AB+PD=6+1=7.
S [JPEAF WK R 2 X7 =14.

&

S1UF OB

it ABCD JZ2/IE »
" ZBAD= ZABC=90°,

OB :%BD, OA :%AC,

AC :BD ’
S OA=0B.
" AE ¢4y ~BAD,

LBAE:% BAD —45°,

S BE=AB=2,

/OAB= /BAE + /CAE =45°+
15°=60°.

S.OB=AB=2, NOAB &%:ih =
fe.

S.OB=BE=2, /ABO=60".

W ~OBE =90°— ~ABO=30".



sEEE

:.AQBCH2:>%<180°——30°>::75

“'BD=20B =4,

SAD=/BD' —AB’ = /¥ =27 =

2V3.

S Ui ABCD {4 i fL = AB -«
AD=2x2J3 =43.
(SHIKRAE & T ML E R,

SHZABHHE SRR, B
EREALY N v LR
% BEYBEHNBEDZAT

09 P ST R R 1P R B K AR

gﬁﬂ”g/\_

(1) 1iE BA:
I,
~.AB//CD.
5. /OCF= ~OAE.
EAOCE FINOAE w1,
Z/OCF= /OAE,
/COF = /AOE,
CF=AE,

S ACOF2NAOE (AAS).
~.OE=OF.

(2) f&: WK, %8 OB.

M3k ABCD J&

D F C
04
A E ~'B
‘"BE=BF, OE=0F,
<.BO_EF.

. #£ Rt ABEO i, /BEF + |

~/ABO=90".

i (1) aJH OC=0A, Bl O Jyx}
a4k AC 1y .

S OA=0B=0C.

~. /BAC= /ABO.

Y. /BEF=2_.,/BAC,

/BEF+ ~ABO=90°,
~.2/BAC+ ~/BAC=90".

fi#t15 ~ BAC =/ ABO=30".

" ZACB=90"— /BAC=60".
B1= (1 kM. VAF//BC,

~. /AFE= /DCE.
WEJEAD A
~.AE=DE.

TENAEF F1/ADEC
/AFE= /DCE,
JAE—DE,
14AEF—4DEC,

S AAEF2ADEC (AAS).
S AF=DC.

**AF=BD,

~.BD=DC.

(2) f#. “Cilsi AR BC BFAT
438 CE MIERK L F A F .,

B AF /BD, AF=BD,

S U AFBD 247U E.
""AB=AC, D J&BC 5.,
~.AD | BC.

S /ADB=90".

S UIE AFBD &R E.
[(EHIAHEETEHNH T
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AEZAWMHAE R, £E | S AB=BE, /A= _E=90".
K#e, TAMABYHA L, %€ LBE-DC, LE—/C=90".
SAW “ZhE—T ERR.  {EABEF RIADCF tr,

TR = /BFE= /DFC,
(1) iEMR: " AB=AC, AD | JE=/C=90",
BC, - BE=DC,
~BD=CD, /ADC=90".  LABEF2ADCF (AAS).
"+ AE=BD, () @t (D). 3 ABEF
S AE—=CD.  ADCF,
"+ AE //BC,  “.BF=DF.
IR ADCE 245y, | - BC=9. DC=3, £C=90",
W /ADC=90°, . LCF=BC - BF=9 —BF =
CSEATIAY ADCE g, 9 DE.
(2) &, (1), %[E]m%i 7 Rt ADCF 1, DF = CF® +
ADCE Jyift. - bee.
S AD=CE =14, S DF? =(9 —DF)? + 32,
-*AE //BC. ~.DF =5,
.. /AEF= /DBF. (R AAE & T8, 2%=
1EAAEF FIADBF i1, O ARWHARSHFRABEEE
_~AEF= /DBF, R, MERKAHREZREE
_AFE= /DFB.  EEFRHRNER.
AE—DE. TRUISE
S AAEF2/ADBF (AAS). 4V3  [f@#r) "M ABCD iy

EF #¥r. s BRRG#AEL AD L

S AF=DF—+AD—2. , /
2 9 B’ 4b, . /EFB = /EFB —

BI= (D EM: VIMEABCD & 60°, AB=A'B', A= SA —
HJE 90 AE=AE =1 VB
SAB=DC. /A= _,/C=90",  ABCD £ i . & AD J BC
V4§ ABAD YERE AL BD BT, . ZDEF= SEFB=60. "AE/
SAVEESE &b, DESBC3F  BF, & ZAEF + /EFB = 180"
M F. N AEF =180° — /EFB =120".
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.:4AEB%a4NEFAf4EFB%:§

60°. . ~A'B'E =30°.
1, &~ B E = 2,
VBE?+AE? =/3 =AB.
AE+DE =4,
AD =3 X4 =43.

Bl fE.
mHhe,

WA ABCD & AT A
“.AO=CO, BO=DO.

~ AO—AE=CO—CF,

Bl EO=FO.

NAE=
A/ B/ _
“AD=
o.o S%E)T,‘ABCD :AB X

(1) &4 E, FHgshe

BRI

" W% DEBF %% 2470

(2) Ui DEBF 2R,
~.EF=BD=12 cm.

IEE A

DY B, F H i 2wy,

DEBF R5EEHT],

‘CAE=tX1=t (cm),
AO:%AC:8mL
aEO:Ao—AEzs—t:%EF:§
6 cm.

fifts t =2. |
@Y E. FMBZJE, WHhk
DEBF J4E BN, |

AE=tX1=t¢ (cm),
S CE=AC—AE=(16—1) (cm).

SWEO=0OC—CE=8—(16—1) = |

t—8 (cm).

S (e
ot —8 2EF 6.

ffifg 1 =14.

ZRGH, =2 (s) Ml t=14 ()
BIrF G,

S =2 (s) Bit=14 (s) W},
VUil }¥ DEBF J&HF.

[S#I KA A& T FATHAL W
He5WERUKERNHZE %
(2) /NIE B E 448 1 AT e A iR
& WA RHEAT IR,

. (D CTis A RRRA (O,
8, AC=24 cm, OB=26 cm,
S.B (26, 0), C (24, 8).
WHZ BC M REiRib=UE y =
kx+b,
muj26/e+b:O,

24k +5 =8,
=Y

=104,
SHZ BC Rk E y =
—4z+104.
(2) MWEEiE, 15
AP=tX1=t (cm),
BQ=3Xt=3t (cm),
N OQ=0OB—BQR=(26—3t) (cm).
UM AOQP EHEE
S AP=0Q,
B t=26 —3t.

el
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15 1 =6. 5.

SN N 65 () B, BT

AOQP EHIE.
ES SR
1. D

AB= 6, AD = 8,

=

H

## D'C=DC=6, DE=D'E.

% DE=z, W D'E =z, AD' =
AC—CD' =4, AE=AD—DE =
i,

8—x. 7 Rt AAED
(AD)? +(D'E)? =AE?, B 4>+ |
2= 8- a0t A =3 M
2. (1) iEMA: A0 =CO, BO=
DO. 5

S A ABCD J&-A7 Uiiie.
" /ABC= /ADC.
W ZABC+ ZADC=180°,
s~ ZABC= ZADC=90".
Ui ABCD 25,
2) f#&. " ~ADC=90°,
Z/ADF : /FDC=3: 2,

2

S LFDC=+ X90° =36
"*DF | AC, 3
S ZDCO=90° — /FDC =90°—
36°=54° |
" PUhIY ABCD 56T .
5.CO=0D,

S /0ODC= /DCO=54",

L4 7546 ABCD i,
S DC =6,

AC=/AD* +CD* =10. MWIEH

.. /BDF = /ODC — /FDC =
54°—36°=18".

3. (D) EMA: CE P4y SACB.
.~ JACE= /ECB.

"*MN //BC,

. /ECB= /OEC.

. ZACE= /OEC.,

SOE=0C,

[F1HL R[5 OC =OF.

S.OE=0F,

(2) f#. "~ CE. CF 4 %] 4
/ACB fl /ACD,

1

*. ZACE + /ACF =5 /BCD =
90°,

EF = JCE'+CF* =
V12749 =15.
~OC=Lpp=L
LOC=4EF =",

(3) f&: Y OfEih AC Lizzh3|
AC Wyrh it iE AECF J&25i
B, BT

O RAC s,

S OA=0C,

H (1) A% OE=OF.

S UINIE AECF SRFA7IUihe.

M (2) W[ %1 ~ECF = /ACE +
~ACF =90".

1 S UHIE AECF NHETE.
 BEEWE
#&. () T ABCD.



~D =90,
""AD=5,
S.DE=AD—AE=5—AE.
&, f3 EF=AE.

76 RUADEF th, alEsn. 4

DE? +DF’ =EF?,
BI(5—AE)? +32 =AE?,
fitfe AE=3. 4.

@)@E@2$ﬁﬁA¢AGLE

BF FH.G, T EFR.

N ~AGF =90°,

S /FAG+ ZAFG=90".
" /D= /BAE=90°,
~.DF | AD,

i 7 &, 14 /BFE = /BAE —

90°, AE=EF.

.. JAFE+ /AFG=90".

. /FAG=/AFE= /FAD,
1l AE 4%  DAG.

- FG=FD,

7 RtAADF 5 RtAAGF 1,
[AF=AF,

|FD=FG,

S RIAADF2RIAAGE (HL).
S AG=AD=5,

Bi s A 2] BF p9RE 2R 5.

@tE 2, K ABCD,

S /C =90°, CD =AB, BC =
AD=5.
H7Z. 14 AB=BF.
~.CF=CD—DF =BF —3.
7E RtABCF i, WA e,
CF? +BC? =BF~.
BI(BEF —3)% +5* =BF?,

it BF —".

HE 2%, Had s MAEMN LAB
FHEN, W R,

/4
15

H D%~ DAF = /GAF.

* /DAF + /BAM = /FAM =
/GAF+ /MAG,

5. /BAM = /MAG.

**MG | AG, MN | AB,

“.MG =MN.

~.BM = BF — FG — GM = BF —

DF— MN = 7/

5 — 8~ MN =

8
3

£ RtAAGM 5 RtANANM Hr,
AM =AM,

{MG =MN,

S RIAAGMERIAANM (HL).

—MN.
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SAN=AG=5.

“BN=AB AN =BF —AN =

17 . 2
s 5%

fE RUABMN 1, fh /4 it 5.

% BM* =MN* +BN?,

EM%fMNY:MNH{%f

i MN =2

.'.MG:MN:%.

;FM:FG+@w:&+%:%.

H2U £E B

Bl— (1) {EBA.
DC,
S /AEB= /AFD=90".
WU ABCD 238,
S AB=AD, /B=_./D.,
1 ANABE fIANADF,
J4AEB—4AFD—mﬂ
/B=_/D,
IAB—AD,
S ANABE2/AADF.
S AE=AF.

(2) "wAE LBC FH E. /B=

70°,

S /BAE=90"— /B =20".
i (1 SAABE</AADE.,
"« /BAE = /DAF =20°.

“*AELBC, AF L

Iz

S /EAF=180"— /B— /BAE—
ZDAF =170".
(RFEIAAEEZEZET 2 H 0K
IR A%E=Z AT HEE R
FrR. MANKREZZEEEZY
Wy AR, 48 A A A

giﬁ:ij”—l\—

B [f&#)Wilj¥ ABCD &2

¥, . AB // CD, AB = BC,

S /MAO= /NCO, /AMO =

ZCNO. ‘" 18 ANAMO F1 ACNO
JLMAO—LN&I

i, AM=CN,
lgAMO—chO,

" AAMO= ACNO ( ASA),

SAO=CO. "AB=BC, ..BO_L
AC. . /BOC=90°. . /BCA=
/DAC= 36", .. Z~OBC = 90°—

/BCA=54°. % B.

iERA: (D #EK AOFEE, N
KR,

" OA=0B,

"o ZABO= /BAO.

¥ /BOE= _/ABO+ /BAO,

. /BOE =2/ BAO.

[F3 A5~ DOE =2 / DAO.

~. /BOE + /DOE =2 /BAO +
2/ DAO=2( /BAO+ ~DAO),
81 ~BOD =2 /BAD.

¥ /C=2/BAD,

~. /BOD= /C.
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C
(2) ## OC, LK.
1£/AOBC f1iAODC i,
OB=0D,
BC=DC,
OC=0C,
S AOBC2ANODC (SSS).
S /BOC= ~/DOC,
/BCO= /DCO.
" /BOD=/BOC+ /DOC,
~/BCD=_/BCO+ ~DCO,

.24BOC2%480D,

4410:54801

N /BOD= /BCD,

. ZBOC = ~BCO.
“.BO=BC.

N OB=0D, BC=CD,
~.OB=BC=CD=0D.
S i OBCD J22:3F.

=

LRI AL EE oA %, H
B AHERFERNLE AN

0y | 2 R

ZH%=
(1) iEBA: “"AB//DC,
" Z/OAB= _/DCA.

" AC N /DAB 4534k,

s OAB= /DAC.
S/ DCA= _/DAC.
S.CD=AD=AB.
“"AB//CD,

VUil ABCD J& VA7 IiiiE.
‘"AD=AB,
S VUHIE ABCD 235,
(2) f&. S VUhIE ABCD 2308,
SOA=0C, BD | AC.
“'CE_LAB,
S.OE=0A=0C=2,

S.OB=VAB* —0A* =
S.BD=20B=2.
WAC=20A =14,

S5—4 =1.

<« Sssmacn :%AC * BD :% X4 X

2=4,
fi#. h¥r=, "M CE=GE.
2 GE | BC i, GE 1y £ Bt /)
. H CE WK B R /M.

X CE MK i/ IMERS, BE W
B RAH.
WmF®E, 4 D DH L BCF

M H.

N DH=GE =CE.
" 1E Rt/ ACDH 1,
/C=180"— /ABC=60",
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S HDC=90°— /C=30". (20?2 — 22 =(53)%. fEfE 2
.'.CH:%CD:%X12:6 (m). 5 ~AB=5. AC=10,
’ (2) f&. AE=DF. BT
— 7 _ —
H=/DC—CHE =605 (an,  fEADFCH, /DFC=90°,
Rl CE i85/ ME R 643 (cm). C=30°. DC=21.
#( BE ) it K {5} BC — CE = | '
i iy DF=5CD=1.
(12—6/3) (cm).
[R#glkm4 &7 o Es, g XAET
MWW R, HREELEpR, ¥ AETDE
18 47 & B 14 T = AR BN K (3) f&. WihE AEFD Gz
TRIN%= B HEHT

“"AB 1 BC, DF _|BC,
S AE //DF.
i (2) Hl AE=DF.

13 ORI TR, B ACY
EG ZFH O, FGZEAC FAHH. |
W B ABCD & 3% B,

/BAD= 120°, % iF AABC S VUihE AEFD J5VAT B,
AACD # B % 3h = f g, 0 (D AACEI0.
" /CAD— /B 60, wEG | ~AD=AC—DC=10-2
AC. 5 SGOH—=90°. ** JEGF— = VAT AEFD Jyzsig. W
/B=60°, . SOHG = 90° — AE=AD.
VEGF=30°. .. JAGH=180"— -+1=1072¢
ZOHG— ZCAD =90°, " FG L figig =,
AD. .FG AD ,
22 AD FHE Lo 5. 10,
M4 AACD gl /8 42 = T2 1 7T 3T
1 o =10 g AEFD
ESA

CUIET X S E T EE N
 EMHMHREMFNREAZ A
Bm (D 10 5 [MFIAB—  BWAXER EEE-A4H

x W O/B =90 /C =30°%  HMEWEANABEENEMA
SAC=2AB =2z, /A EEM, | BMy L4
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. (1) ME AEPM HZETE.
SZIEER U
""EF //AB, PM//AC,
I AEPM 347 .
" AD % »~CAB,
" /CAD= /BAD.
"EF //AB,
" /EPA= /BAD.
" /CAD= /EPA.
~EA=EP.
S A AEPM hzsip.
(2) ) P4 EF B st
1

Ssgwaepm = Pl

FEEANT

" VUihE AEPM JEETE,
~SAD | EM.

“"AB=AC, AD ¥4}/ BAC,
~.AD | BC.

~.EM //BC.

“'EF //AB,

Wi EFBM 247140 E.

S EFBM -

ok Eﬁf EN LAB FAN. T

EI .

E
A
NM

W) Sypacpy =EP « EN == EF -«

1
EN :gslﬂlﬁlfﬁEFBM-

RS
LD [@#lE

# AC. BD,
TH.

O REEIE ABCD X228

M, .'.Oc:%Ac:& OD —

%BD: L, SCOD = 90°. #F
RIACOD i, CD _
JOCTTODF = 5. ** AB J/ CD,

. /MBO= /NDO. %&£ /A\OBM
Z/MBO= ~NDO,

1 AODN 1, J OB=0D,
lgBOM—gDON,
. AOBM £ AODN ( ASA).

SDN=BM. i S OPFr&ZER
ABCD, B, BWis&ES, MN &
g, SBM=B'M=1. ..DN=

1. .CN=CD—DN=5—1=4.
(1) iEMR: " AE / BD, ED//
AC,
VUi Je AODE & F-17Iuilie.
PUihiE ABCD 24T,

OA =OC :%AC, OB = 0D =
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%BD,AC:BD.

S OA=0D.
SR AODE J2255E.

il
(2) #%. #H OFE, WHEL
E

B

o
B c

i (1), 15 Wil )& AODE &

ESIA

S AE=0A=0B,

“*AE //BD,

S UihE AEOB S& P47 Uil IE.

“*BE | ED, ED //AO,

~.BE | AO.

S U AEOB 2358,

S AE=AB=0B.

S AB=0B=0A,

RIAAOB J&5631 = .

S /AOB=60".

S ZAOD=180°— ~AOB=120",

3. () iEB. MK ABCD £

TUhiE,

S AB=CD, /BAE= _/DCF.
£ ANABE fI/ACDF w1,
AB=CD,

/BAE= /DCF,

AE=CF,

S AABE2ACDF (SAS).

(2) f#&. MWihJ¥ BEDF 2% F.

BT -

U ABCD J& A7 4ihig
S.AD //BC, AD=BC.
‘*"AE=CF,
SAD—AE=BC—CF,

H DE =DBF.

S U BEDE S22 V17 Wiie.
S.OB=0D.

DG =BG,

S EF | BD.

S MUihJE BEDF 23 F.

%%E%i‘:ﬁ

f#. (1) #=WiLIE AECF J¥17
PIE .
S AO=0C, EO=O0F.

it ABCD -F17HiIE .

LBO:OD:%BD:6am

““BE=1Xt=t (cm),
OF =2 Xt=2t (cm),
S EO=BO—BE=(6—1)(cm).
S6—t =21
fifi c=2.
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